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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 Give definition of Economic environment.

		  Am{W©H$ dmVmdaU H$mo n[a^m{fV H$s{OE&
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	 (ii)	 What is economic planning?
		  Am{W©H$ {Z¶moOZ ³¶m h¡?

	 (iii)	 What do you mean by unemployment?
		  ~oamoOJmar Ho$ ~mao ‘| Amn ³¶m g‘PVo h¢?

	 (iv)	 What is balance of payment?
		  ^wJVmZ gÝVwbZ ³¶m h¡?

	 (v)	 What is WTO?
		  S>ãby.Q>r.Amo. ³¶m h¡?

	 (vi)	 Write two problems of Inflation.
		  ‘wÐm-ñ’$s{V H$s Xmo g‘ñ¶mE§ {b{IE&

	 (vii)	What is public enterprises.
		  bmoH$ CnH«$‘ ³¶m h¡?

	 (viii)	What is disinvestment?
		  {d{Zdoe ³¶m h¡?

	 (ix)	 Explain industrial sickness?
		  Am¡Úmo{JH$ é½UVm ³¶m h¡?

	 (x)	 What do you mean by Globalization.
		  d¡ídrH$aU go Amn ³¶m g‘PVo h¡?

	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&
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2)	 Explain the factors affects the economic Environment of a 

country.

	 Am{W©H$ n¶m©daU H$mo à^m{dV H$aZodmbo KQ>H$m| H$mo g‘PmB¶o&

3)	 Write objectives of Economic planning.

	 Am{W©H$ {Z¶moOZ Ho$ CÔoí¶ {b{I¶o&

4)	 Discuss the emerging trends of foreign direct investment in 

India.

	 ^maV ‘| àË¶j {dXoer {Zdoe H$s C^aVr hþB© àd¥{V¶m± ~VmB¶o&

4)	 Put a light on the causes of poverty and unemployment.

	 ^maV ‘| Jar~r d ~oamoOJmar Ho$ H$maUm| na àH$me S>m{b¶o&

5)	 Write short note on foreign direct investment.

	 {dXoer àË¶j {Zdoe na {Q>ßnUr {b{IE&

6)	 Write importance of five year plans.

	 n§Mdfu¶ ¶moOZm H$m ‘hËËd {b{IE&

7)	 Explain the causes of poverty.

	 ^maV ‘| Jar~r Ho$ H$maU g‘PmB¶o&

8)	 Write a short notes on:

	 (i)	 Fiscal Policy

	 (ii)	 Export - Import Policy

	 {Q>ßnUr {b{IE&
	 (i)	 amOH$mofr¶ Zr{V
	 (ii)	 Am¶mV-{Z¶m©V Zr{V

9)	 Explain objectives of economic planning.

	 Am{W©H$ {Z¶moOZ Ho$ CÔoí¶m| H$m dU©Z H$s{OE&
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	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 What are the main demerits of planning Machinery? Suggest 

their remedies to remove them.

	 ^maV ‘| {Z¶moOZ VÝÌ Ho$ ‘w»¶ Xmof ³¶m h¡? BZHo$ {ZamH$aU d gwYma Ho$ 
{bE gwPmd Xr{OE&

11)	 Examine the impact of Foreign aid on India's economy.

	 ^maVr¶ AW©ì¶dñWm na {dXoer ghm¶Vm Ho$ nS>Zodmbo à^mdm| H$m narjU 
H$s{OE

12)	 Explain the functions and administrative structure of word 

trade organisation.

	 {díd ì¶mnma g§JR>Z Ho$ H$m¶© VWm àemg{ZH$ g§aMZm H$s {ddoMZm H$s{OE&

13)	 Critically examine the new industrial policy of India.

	 ^maV H$s ZB© Am¡Úmo{JH$ Zr{V H$m AmbmoMZmË‘H$ narjU H$s{OE&


